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= Multiply decimals by 10,100,1000

Name: Date: Score:
3317 x10 = 8.763 x 10 =
10.628 x 10 = 9214 x 10 =
3.734 x 10 = 2368 x 10 =
10.955 x 100 = 10.642 x 100 =
4.938 x 1000 = 8911 x 10 =
1.78 x 1000 = 4.856 x 100 =
10.333 x 100 = 8.897 x 1000 =
10.236 x 1000 = 3.652 x 1000 =
3.087 x 1000 = 1.977 x 1000 =
7.309 x 1000 = 9.35 x 100 =
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@ Multiply decimals by 10,100,1000

Name: Date: Score:
3317 x 10 = 33.17 8.763 x 10 = 87.63
10.628 x 10 = 106.28 9214 x 10 =92.14
3.734 x 10 = 37.34 2.368 x 10 = 23.68
10.955 x 100 = 1095.5 10.642 x 100 = 1064.2
4.938 x 1000 = 4938 8911 x 10 = 89.11
1.78 x 1000 = 1780 4.856 x 100 = 485.6
10.333 x 100 = 1033.3 8.897 x 1000 = 8897
10.236 x 1000 = 10236 3.652 x 1000 = 3652
3.087 x 1000 = 3087 1.977 x 1000 = 1977
7.309 x 1000 = 7309 9.35 x 100 = 935
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